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H il Zl 8.09 27,725 14,086 | 13,639 | 12,753 3,427 1,576

X R FTERIPR SR AT RO N R A TR (27.4.1)

OB D#Aptest LA CERK 1 746 A 1 3 AN/ D FHHE—H ik 1F)

IH H B /7" H) Z DAL T B
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7 T Ok YR 8 640
B | A 4 8 584
%R E (%) 100.0 91.3
Wk 264 B 10 16(2) 5 2 3 10 501
PR 254F B 10 16(2) 5 2 3 10 501
Rk 244 10 16(2) 5 2 3 10 501
PR 234F L 10 16(2) 5 2 3 10 501
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11 12 I 10 5 5
12 13 I 3 2 1
13 14 I 4 2 2
14 15 I 3 2 1
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24 1 25 I 13 6 6 1
25 1 26 I 3 1 2
26 1 27 I 13 9 4
27 n 28 I 3 2 1
28 129 I 4 3 1
29 1 30 I 6 4 1 1
30 31 I 26 2 11 7 6
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40 £ LLE 13 2 5 6
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60 0 4
61 FLLE 2

PR E R, TREUE B FEEL . T2 gt MNCIE. 1 A0 650 Cat I CNECREL R LT et 1) (27. 4. 1)
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a it 7016.5 14.1 | 1740.0 2.0 | 3875.0 7.8 409.0 3.7
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5 B F 594.5 13.8 | 101.0 337.0 7.8 33.0 2.5
R & ¥ & 327.5 13.1 | 212.0 1.0 198.0 7.9 18.0 2.6
Ny i E 350.5 14.0 48.0 193.0 7.7 17.0 3.4
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26 AFJE 4 1 1 2
25 " 11 1 3 3 2 2
24 " 4 2 1 1
23 " 5 1 2 2
22 " 9 1 2 3 3
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B T H 6 1 5 2 3
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